ZAEDNHhT Ot v X —[ENS 2025468 27H
SMTEE
[ElNE 4 A 5A 6 A 7AH 8 A 9A
ERl= EUR = () | EUNE (kg) |ERRE(R) | EIURE (kg) |EUN=R8(R) | EUNE (kg) |EUNRE(R) | EIUE (kg) |EUNRE(R) | EUNE (kg) |EUR A2 (R) | EUE (kg)
i 36 7.46 2 0.28 24 5.08
AV ARRY
63 7.6 59 3.7 99 15.18
PR
Er27) 20 4.92 12 3.52 56 12.44
LT G 15 2.24 4 0.08 8 1.56
B 19 15.02 0.9 4 1.22
SRR 18 7.04 11 4.62 42 11.94
BETF 381 53.56 340 58.6 378 53.22
Z DM 10 6.18 2 2.2 34 22.7
= 562 104.02 431 73.9 645 123.34 0 0 0 0 0 0
FFANEL 27 12 29
BN E 10AR 118 128 1R 2R 3R &5t
an B EUR = (=) | BEUNE (kg) |EUS#(R) | EURE (kg) |EUNa#(=) | BIUNE (kg) [EMEE(R) | EUE (kg) |EUNS#(=R) | EUXE (k) |EUNa#(R) | BEIUNE (kg) (EMX S (R)| EUXE (kg)
i 62 12.82
AVARRY
L 221 26.48
747 88 20.88
W4T & 27 3.88
/e 24 17.14
FBREL 71 23.60
BEF 1,099 165.38
Z D 46 31.08
&5t 0 0 0 0 0 0 0 0 0 0 0 0 1,638 301.26
FFANEL 0 0 0 68




A b—=3—H F=TVFBEAEERID 2025%6A27H
SHTEE
[EiXE 4 A 5A4 6 A 7H 8 A 9A
am H BN S () | ERE (kg) |ERRE(R) | BEUXE (kg) [EUR=#E(R) | EURE (kg) |EUR=E (=) | EUNE (kg) [EUR=#(R) | BEURE (k) [EUR=% (=) | EURE (kg)
s 22 5.96 6 0.88 6 1.28
L REY
20 2.74 11 2.02 5 0.98
RS
Er&7)| 0 3 7.24 61 17.62
FELF i 0 3 0.46 0 0
B 22 6.88 6 1.6 7 2.88
TR 4 0.58 13 2.8 29 2.82
BEF 26 2.82 0 4 0.3
Z Dt 0 0 0 0 0
aEt 94 18.98 42 15 112 25.88 0 0 0 0 0 0
BN E 10A 11A 12A8 1A 2A 3R =
an B EUR 3 (R) | [EUNE (kg) |EURA#(H) | EURE (kg) |EURSE(R) | EUE (kg) [EURS#(R) | EUNE (kg) |EURR#(S) | EURE (kg) [EURSEK(R) | EUE (kg) [EUR=#(R) | EUNE (kg)
i 34 8.12
Tz 36 5.74
B
2 64 24.86
=g 3 0.46
B 35 11.36
TR 46 6.20
BEF 30 3.12
Z Dt 0 0.00
= 0 0 0 0 0 0 0 0 0 0 0 0 248 59.86




4 h =3 = F—NEEERS

2025568 27H
SMTEE
EIRE 4 A 5 6 A 78 8 A 95
28 |ERAKR)| EREke) |[BRAH(R)] BRE ke |ERAK(R) | BRE (g |ERAHGR) | ERE (ke |DRAKR) | BIRE (k) |DRAK(R)| ERE (k)
g 1 0.1 0 0 3 05
AV AR
16 17 8 5 12 1.2
LBg
%Y 17 28 0 0 0 0
TS 0 0 0 0 0 0
e 20 6 18 75 8 25
] 4 0.1 0 0 1 0.6
BET 4 0.3 0 0 1 0.2
Z oM 0 0 0 0 0
At 62 11 26 125 28 5 0 0 0 0 0 0
EiRE 105 1158 125 1A 2B 35 At
SH  |ERAKE| ERE ke |MRAKE)| BRE (e |ERARGR) | BHRE (ke) |EIRAZGR) | BIRE (ke) |ERAE(R) | EIRE g) |ERAK(R)| BIRE (k) |ERAK(S) | ERE (e)
g 1 0.60
R 36 7.90
L Bg
1 17 2.80
IS, 0 0.00
e 46|  16.00
] 8 0.70
5ET 5 0.50
Z ot 0 0.00
e 0 0 0 0 0 0 0 0 0 0 0 0 116 285
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BN =2 () | EURE (k)
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202556 827H
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—+

an B

EURSE () | EUE (kg)

EUN = (=)

EUNE (kg)

EUN = (=)

EUNE (kg)

B 254 (52)

EUNE (kg)
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